
Rear Cabinet (#934-0543A)
Outside dim: 48"Wx62D"x14.34"H
With inside opening:
44.25"W x 58.62"D x 11.25"H 

Subframe 933-0068A

Electronic Box (32"Wx10"Dx14.5"H)
(#834-1748A)

Electronic Box Mtg Base Ass'y
(#834-1751A)

FOR PARTITION MOUNT TO CABINET
1/4-20x3/4" HEX BOLT ZINC (7X)
1/4-20 FLAT WASHER, ZINC (7X)
1/4-20 LOCK WASHER, ZINC (7X)

FOR ELEC. BOX MOUNT TO BASE
1/4-20x3/4" HEX BOLT ZINC (4X)
1/4-20 FLAT WASHER, ZINC (4X)
1/4-20 LOCK WASHER, ZINC (4X)

FOR CABINET MOUNT TO SUBFRAME
3/8-16 X 1" HEX BOLT ZINC (4X)
3/8-16 FLAT WASHER, ZINC (4X)
3/8-16 LOCK WASHER, ZINC (4X)

 48.00 

 14.34 

 24.25 

 47.63 

2"x2"x3/16"
Mesh

FOR ANGLE MOUNT TO BASE
3/8-16X1" CARR BOLT ZINC (3X)
3/8-16 FLAT WASHER, ZINC (3X)
3/8-16 NYLOC NUT ZINC (3X)

 38.57 

 75.76 
 62.00 

 46.09 

Tahoe 2012 Front Partition
(#938-0082A)

FOR CABINET MOUNT TO ANGLE
1/4-20x3/4" HEX BOLT ZINC (5X)
1/4-20 FLAT WASHER, ZINC (5X)
1/4-20 LOCK WASHER, ZINC (5X)

Cab Rear Mtg Angle
(#834-1752A)

SIZE

MFG.  NO.

A

REV.MATERIALFINISH

NAME DATE

DRAWN

CHECKED

SHEET 1 OF 1
USED ON:

DESCRIPTIONREV. DATE APPROVED

Ohio Highway Police Storage Solution
For Tahoe 2012

 

Date: Monday, July 22, 2013 9:13:29 AM
File: 934-0542A
Path: Y:\MECH ENG\ARCHIVE\934-Files\934-0542A Ohio Highway Patrol Custom TS-01 (48Wx62Dx14H)\

934-0542A

ALUMMidnight Black Wrinkle

MQ

0

DANDR-ANSI-A   
REV2
APRIL 1,2009

THE INFORMATION CONTAINED 
WITHIN THIS DRAWING IS 

PROPRIETARY AND CONFIDENTIAL. 
AND IS THE SOLE

PROPERTY OF DandR 
ELECTRONICS CO. LTD.  IT MAY

NOT BE REPRODUCED AT WHOLE 
OR IN PART WITHOUT THE

WRITTEN PERMISSION OF DandR 
ELECTRONICS CO. LTD.

DESCRIPTION:

19JUL12

CATALOG.  NO.

BY


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


